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2 MATH 251 — MIDTERM 3

1. (10 points) Evaluate the followmg, impossible integral by chang-
ing the order of integration
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MATH 251 — MIDTERM 3
2. (10 points) Evaluate the following integral, where D 15 the re-

gion in the first quadrant bounded by the disk z? + 1y =49, the
line y = x, and the y—axis 4
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4 MATH 251 — MIDTERM 3

3. (10 points) Set up, but do NOT evaluate, a triple integral that
calculates the mass of an object £ with density 2y.
AT 3
Here E is the region in the first octant bounded by the surfaces
y+z -—’ Yy = \/5 T L el gpne. Write your
integral in the usual order with dzdydz.
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MATH 251 — MIDTERM 3

4. (10 points) Evaluate the following integral, where E is the region
inside the sphere z? + y% + 22 = ® and below the cone z =

2% + 92, in the first octant 4
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6 MATH 251 — MIDTERM 3

5. (10 points) Use a change of variables to evaluate the following
double integral, where D is the-semame with vertices (0,0),(3,2),
(3,-2),(6,0) DIA Maonb
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